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Find the Laplace Transforms
e

k -+

3) 'Et-.\
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6.) at+

9.) acos?2t

12.) cosh® 3t
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10) e™®*?P 11 sin (ot + ) |
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ki ‘.__9.

15.) £y 16.)
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17) Y ® - 18.)
=8

—

1L

19) 1y < 20
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21.) u,(t)[t-1] 22.) u,(t)it] 23.) u_(t)cos 1]

24.) Uy, (D)sinet] 25.) u,(t)e"]
26.) u,(t)It’] 27 te' 28.) t?e?'
29.) t sin 3t 30.) te’ 31.) t° cos t
32) te'cos t 33) telcosh 2t 34) tsinh 2t
35.) te 'sin t 36.) 1+1 37.) 1*sin t
38.) e'+e' 39.) e 40.) t+e?!

41.) sint *sin t 42.} sin t * sin 2t 43.) cost*cost

44) sint* cost

The foliowing are assumed to be periodic with period 2n
45) ft) =2r -t (0 <t < 27m)

46.) fit) = e (0 <t<2nm)

47.) ) =t° (0 <t < 2n)

48.) ft) =1 whenO<t<mx f(t)=-1whenn<t<2n

48.) f{t) =twhen O <t<x ft)=n-twhenn<t<2n

50.) f(t) =0OwhenO<t<x ft)=t-nwhenn<t<2n



1.)
3.)
5.)
7.)
9.)
11.
12.
13.
15.
17.)
19.)
21.)
23.)
25.)
27.)
29.)
31.)
33.)
35.)
37.

39.
41.
43.

)
)
)
)

R g

45.)

47.)

49.)

50.)

Answers to the fransforms:

k(1 - €°%)/s 2.)
eSis + (1 -e%)s®  4)
1/s2 + 2/s 6.)
als + b/s® + 2¢c/s°  8.)
as/(s” + 4) 10.)

(0 cos 8 + s sin e)/(sz + mg)

cosh? 3t = (cosh 6t)/2,

k(e - e%)/s 14.)
1/s(1 + €7°) 16.)
1/s(1 - e°) 18.)
(e - e2%)/8? 20.)
e %/s? 22.)
-se™(s? + 1) 24.)
e2® - %(5.k) 26.)
s - 1)? - 28))
6s/(s® + 9)° 30.)
2s(s? - 3)(s® + 1)°  32)

(s2 + 25 + B)/(s? + 25 - 3)°

2(s + 2)/(52 + 45 + 5)2
1-cost

(e - e”Yy/(a-b)
(1/2)(sin t - t cos t)
(1/2)(t cos t + sin t)

ons + e 2" . q
82(1 _ e-ERS)

38.)

40.)
42.)
44.)

46.)

k(e - e2%)/s
1/s - (1 - e°)/s?
a/s? + bls

24/s* + 2/s°
eb/(s + a)

/(2% - 72) + 1/2s

2 - 363 + 2% - & %s

(1 - e )s(1 + e°)
e /s(1 - )

(1 - 28" + e2%)/s
eS(s2 + s
me-2nslm/(32 + (1)2)
e%(2s® + 257 4+ s)
2/(s-2)°

2/(s + 1)°

(s? + 28)/(s? + 2s + 2)°
34.) (1282 + 16)/(s® - 4)
36.) t

te'

(e - 1)a® - ta

(2/3) sin t - (1/3) sin 2t

(t/2) sin t
p2(1-8)m

(1 - s)(1 - €27

2

3

2(e®™ - 1 - 2ns - 2n%s?) (1 - e™%)?

53(8'21155 - 1)

(e-ns . e~21cs)

48, -
)S(} - e 2RS)

. . 1 . .
ens(e L 1) +“"5(e LS 1)2]/(1_9 2ns)
s

- ﬂ_’SJe~2~z1:s.'|l(1 _ e-2ns)



Find the Inverse Transforms

1 3
1.) T, 2) =
a4, & a4 2
3.) T4+ S+ 4.) (2s + 1)/{s" + 4)
) T )
| 2 1
5.) 4(s + 1)/(s® - 16) 6) T+
s 1
7. 8.
IR ) ¥ s+ 2)
3 1
9.) ——— 10.) ————
)% s ) 55 - 2)
1 1
11.) ——— 12) —5——
s(s” + 9) s(s” - 1)
1 1 s -1
13) 5 14) =
)32(s+1) )32(5"'1)
1 s - 2 54
15.) — 16.
) 52(82+4) ) 33(5-3)
28 - T s + 3
17.) 18.
)83(8~n) )(s+1)2+1
2 1 1 1
19) 20.) 5+ :
$" + 45 + 13 (s-2) (s - 2)
bs + C "'38 -5
21.) 22. - e%)/s
(s - a)? + ) )
23.) e%/s? 24.) (e + €2 .33

+ e'as)/s2



33.)

35.)

37.)

39.)

41.)

43.)

45.)

47.)

49.)

51.)

53.)

(2e7®° - 1)/s
e %/s®

e */(s? + %)

) (- ey + a)

s(1 + e™)/(s? + 1)

2s/(s® + 1)?

arccot (s + 1)

s
s - 1

In

§ + a

in
s + b

s - a)?

1
(s - a)(s - b)

1
32(32 + a)z)

s/(sz + m‘?)2

8

2 + aa)(s2 + ba)

(s

52+Qs~9

3
s” - Os

26.)
28.)
30.)

32.)

34.)

36.)

38.)

40.)

42.)

44.)

46.)

48.)

50.)

52.)

54.)

e %/(s-3)

4s + 4

8

+ 16



55.) s/(s® + 2s + 2) 56.) s/(s + 1)

s + 652 4 14s 252 . 38
57.) " 58.) 5
(s + 2) (s - 2){(s - 1)
s? + 2s s? . 6s + 7
59.) —5 5 60.) — 3
(s” + 28 + 2) (s - 45 + 5)
382-6$+7 ss-332+68-4
61.) —— 5 62.) 5 5
(s” - 25 + 5) (8™ - 28 + 2)
Answers to inverses:
1)  (1/3)sin 3t 2.) 3™
3) &, +a,t+aty2 4.) 2 cos 2t + 1/2 sin 2t
5.) 4 cosh 4t + sinh 4t 6.) 2+e2
7.) cos nnt g8.) et-eg?
31 eZt 1
9) 1-e 10.) Y]
11.) (1 - cos 3t)/9 12.}) cosh t - 1
13) t+e'-1 14.) 2(1 - &) - t
15.) (sin 2t - cos 2t)/4 + 1/4 - 2  16.) 2e°' -9 - 6t - 2
17.) t?/2 - tp + (e’Lt - 1)/1:2 18.) e't(cos t+ 2 sin t)
: 2 4
-2t : -1 S
19.) e " (2 cos 3t - sin 3t) 20.) e (2+24)
21.) e®'(b cos wt + © ' (ab + ¢) sin ot)
22) f{t)=-1if1<t<3
23) ft) =0ift<1and t-1ift > 1
24) ) =t-1,2t-3,6-twhen1<t<2 2<t<3, 3<t<6, and0
otherwise
25.)) it} =-1if0<t<aand1ifts>a
26.) u,(H[1] 27.) u,(D(t-1)%/2]
28.) u,(t)[e®" " 29.) -u,(t)[n'sin =]
30.) u, (e M 31.) (sin 20/2if 0 <t < = and O

otherwise



32.)

34.)
36.)
38.)
40.)
42.)
44.)
46.)
48.)
50.)
52.)
54.)
56.)
58.)
60.)
62.)

-e™ sin tif t > and 0
otherwise

et

t2eat

(sin wt)/t

(2 sinh at)/t
I?.\(tat - cos it
e?'t?/2

(1 - cos mt)/co2
(sin t - t cos t)/2
(sin t + t cos 1)/2
2+

4 cos 41 + sin 4t
(1 - te™

262 4 te!

tezt(cos t - sin 1)
et(cos t + 1t sint)

35.)
37.)
39.)
41.)
43.)
45.)
47.)
49.)
51.)
53.)
55.)
57.)
59.)
61.)

33.)
otherwise

t sin t

e Y(sin it

(e'- i

(e-bt - e @Y/t
egt*eat = 1:eat
(e - e™)/(a - b)

(ot - sin co'{)/co3

(t sin @t)/20

(cos at - cos b*t)/(b:2
1 + 3 sinh 3t
ecos t - sin t)

(1 + t°- 2t%)e™®
te'cos t

e'(t cos 2t + sin 2t)

costif0O<t<mand O



Dirac Delta Function
Suppose that a force of magnitude F acts on an object
instantaneously. The goal is to describe mathematically a force that
imparts an impuise of unit magnitude to an object at time t. (You
can always multiply by a magnitude.) This is equivalent to being
able to describe a metal bar being hit by a hammer.

The unit impulse function or Dirac delta function is defined in the
following way.

1) §,()=0, t=a

2.) f&aﬂ)dt =1
The Laplace transform L(3 (1)) = e”*°

Find the answer to the foliowing.
1) ¥y -2y =3,(1), y(0) =1
2.) Yy +4y=35(1), y(0)=0

3.) y" - 4y = 63“): y(0) = 0, y'(0) = 1

4.)  y" + 18y = 4cos 3t + 3,(t), where a ="§“ andy(0) =0, y'(0) = 0

Answers:

1) y=e®+ e’
1 st

2) y=gz(e o2

- e“t)' + ug(t)[e

3.) vy =‘;_"[sinh 2t + ug(t)[sinh 2(t-3)]

D=t

4 ' T
4)) vy =(cos 3t - cos 4t) + 7 u_(t)[sin 4(t-a)] where a = 3.



Convolution

When you have a transform of the form H(s) = F(s) G(s) or what
appears to be a product in the world of Laplace, one option is to use
convoiution.

If H(s) = F(s) G(s) Then h(t) = f(t) ~ g(t) where the star represents
convolution. .

t
ity ~ git) = Jf(t-1)g(r)d
0

Sometimes this is useful in finding the inverse transformation. You
have several in the exercises.
Periodic Functions

The Laplace transform of a piecewise continuous periodic function
f(t) with period p is

This is useful if the function pulse form repeats. There are
problems on the exercise sheet.



